Quiz 2 Hw #12
KEY





Partial Results
1. Obtain the 3-way ANOVA and results below.

a. For the 3-way   


F= 2.979  df = 4, 387  MSe = 30.975   p = .019  r = .173
b. For the Stress * Support 2-way     
F= 1.177  df = 4, 387  MSe = 30.975   p = .320  r = .110
c. For the Stress main effect  

F= 36.092  df = 2, 387  MSe = 30.975   p = .000  r = .396
2. The 3-way interaction

a. Get the plot of the cell means that portrays the 3-way interaction.  The X-axis should hold Stress, with separate lines for the levels of Social Support and separate graphs for each Mindfulness group. Copy those figures into the open table below.
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b. Do the results appear to support the portion of the RH: that relates to this 3-way interaction?  Explain your answer carefully.
3. The 2-way interaction of Support & Stress
a. Get the plot of the semi-marginal means that portrays the 2-way interaction.  The X-axis should hold Stress, with separate lines for the levels of Social Support. Copy that figure into the open table below.
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4. The Stress main effect
a. Get the plot of the marginal means that portrays the main effect. Copy that figure into the open table below.
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